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= -2 (ZH) - MM - BES Off &4 JEH Hns2Z
EXNEEH 2,780,869 1,529,266 1,251,603
= 107,107 107,107 0
Al 2,673,762 1,422,159 1,251,603
SEXQ XFze 1,910,909 679,691 1,231,218
= 107,107 107,107 0
Al 1,803,802 572,584 1,231,218
EXS 88 29 1,910,909 679,691 1,231,218
= 107,107 107,107 0
Al 1,803,802 572,584 1,231,218
KN EAR K el 16,429 16,009 420
201 Let24E] 16,429 16,009 420
01 At 2teltl 2,100 1,680 420
OSREXNZERES 39 #&dxg
70,000 x6H x53] 2,100 1,680 420
NETHEAL AFSY =& 1,382,486 147,558 1,234,928
= 107,107 107,107 0
Al 1,275,379 40,451 1,234,928
203 YR =&l 3,810 4,010 A 200
03 A Z=XH S =AY 3,810 4,010 A 200
OXNETHEZAMY S HEFA 3,810,000& 3,810 4,010 A 200
301 LAz 1,235,128 0 1,235,128
12 J|EtE 4= 1,235,128 0 1,235,128
OXNEBMEA ZFS X2 1,235, 128,000& 1,235,128 0 1,235,128
NESE= 60,638 64,768 A4,130
405 XHoHF S HI 38,000 42,130 A4,130
01 AL EZFH S 38,000 42,130 A 4,130
OGNSS(RIERAXI SEZAIAE)EZSD| 7 38,000 42,130 A 4,130
—GPS(RIALX ESHAAE)ESI 2
31,055,000& *1set 31,055 34,430 A 3,375
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A8 S2AdA 23 815,083 792,054 23,029
NNel 32 AMAE(GIS) 89 815,083 792,054 23,029
SUATFBAAE =XXNEE BRFAY 653,729 630,700 23,029
201 Let24E] 23,029 0 23,029
01 At 2teltl 23,029 0 23,029
O=XXEZ BBRE Al B2 JUAA
k= 23,029,000 23,029 0 23,029
HY2HIH(EXNZE D) 54,341 57,521 A 3,180
Jl2Z3l 54,341 57,521 A 3,180
JlE&l 54,341 57,521 A 3,180
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H: HH2IAH(ENFEM)

¢l =gl (chel & 9l)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z

201 Le-2d| 23,561 25,121 A 1,560

01 At 22l 20,040 21,600 A 1,560

ORM2III=ZH 20,040 21,600 A 1,560

— L Et=2H| 40,0003 *20H x 123 *90% 8,640 9,600 A 960

— =24l 50,0003 *20H 123 *95% 11,400 12,000 A 600

202 o4dl 27,360 28,800 A 1,440

01 = LH o4 1l 27,360 28,800 21,440

HEFAI| 20 I 120,000& »20H » 122 x95% 27,360 28,800 A 1,440

203 YR =2t 3,420 3,600 A 180

04 FN2IELRSFAH| 3,420 3,600 A 180

ORA2EIRFAHI 300,000& = 12& x95% 3,420 3,600 A 180

HWRES(EXNFLE ) 536 0 536

SHEXNE 536 0 536

gtet=JIE 536 0 536

802 Btet= DI Et 536 0 536

01 =z08x3a8eza 536 0 536

O=gs2 FINEXZ a3 208,000& 208 0 208
OFd44+3 2 NEXS 0K g2

328,000& 328 0 328




